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Recruitment for the Post of Junior Secretariat Assistant (G/S&P), Advt. No. 2/12018

Total Time Allowed : 2 hours 30 minutes Total Maximum Marks : 500

Read the following instructions carefully before you begin to answer the questions.
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11.
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' IMPORTANT INSTRUCTIONS

Candidate will be supplied with Paper I Question Booklet 10 minutes before commencement of the Competitive Written Examination.

The Competitive Written Examination has the folloWing two papers.
Paper I (Time Allotted — 90 minutes)

Subject . No. of Questions : Maximum Marks ) Negative Marks

Mental Ability Test 100 200 There will be no negative marks in
(two marks for every correct this paper
answer)

Paper II (Time Allotted — 60 minutes)

Subject No. of Questions Maximum Marks * Negative Marks
.General Awareness ) 50° ; 150 ’ One negative mark for every wrong
(three marks for every | answer
correct answer)
English Language 50 150 One negative mark for every wrong
: (three marks for every answer

correct answer

For Competitive Written Examination Candidates will be provided Question Paper during the following Sessions :

Session I — Paper I — between 09:30 A.M. and 11:00 A.M.
Session II — Paper II — between 11:00 A.M. and 12:00 Noon

After-end of each Session, Question Paper will have to be returned to Invigilator.

Prior to attempting to answer, the candidates are requested to check whether all the questions are there in series and ensure there are no
blank pages in the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to the Invigilator
immediately and get it replaced with a complete Question Booklet.

You must write your Admit Card No. in the space provided on the top right side of this page. Do not wnte anything else on the
Question Booklet.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct response and mark in the OMR
Answer Sheet. Your total marks will depend on the number of correct responses marked by you in the Answer Sheet.

" In the OMR Answer Sheet there are four circles@, ,@ and @ against each question. To answer the questions you are to mark

with Blue or Black ink Ball point pen ONLY ONE circle of your choice for each question. Select one response for each question in the
Question Booklet and mark in the Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. 'If for any item, is the correct answer, you have to mark as follows :

0N JONO)

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take this Question Booklet and the
Answer Sheet out of the Examination Hall during the time of written examination and After the examination is goncluded, you must

hand over your Questlon Booklet and Answer Sheet to the Inv1gllator

Do not make any marking in the question booklet except in the sheet(s) before the last page of the question booklet,
which can be used for rough work: This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

Failure to comply with any of the above instructions will render you liable to such action or penalty as the Competent Authority, CLRI
may decide at his own discretion.

I have read the important instructions given abdve and agree to the above.

- Invigilator’s Signature ‘ Candidate’s Signature with date
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1. ﬁw%@am%@wﬁwﬁa(?)%wmwmmﬁq?
17, 19, 23, 29, 37,7 o
(A) 48 (B) 47 . (©) 49 (D) 46

2, frefaiaa dea gaen § 93 fg(?) & TM W F ST =Ry ?
655, 637, 622, 610, 601, ?
4) 593 (B) 598 (C) 595 (D) 597

3. iR 1037@@21 3R 16 ufeal @A 56,000 / - IR IF 20% %wmmam{ﬁmu@m
I 15 Fagaet 3N 24 ufsat S=rt =nfee @i 3/ @1 F FAE qiqwa qT6 E e
(A) 116176 (B) 100980 (©) 121176 (D) 10080

4. 25% T 960 + 55% of 740 = ?
(A) 650 (B) 647 (C) 689 (D) 699

5. Tk HR 50 freiier / Her 1 i @ wordt @ S wfdw 7 f St @ 3 wfde i ww 60 fehetiet
/ v =t 21 R ¥ ae, w6 6 # v Pifvvd gft 7@ w21 afi a8 e w s fka wv
e A 3T HR A R g @i ? i
@) 7.2% ® 68® (O 8W (D) 6.5

6. Tra ANt & 28,500 T T T ST WERe S 23,940 29 3 Ui o st g it R 27
(A) 10.5 B) 12 ©). 11 (D) 125

7. af Y o a5 A % 6,500 F S| 3 20% H 7 gE) fFE himd w @ 20% A IE HA & g
g a7 | '
(8) 8125 (B) 10375 ©(© 9750 (D) s7E d Y FE T
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Paper -1
MENTAL ABILITY TEST

What should come in place of the Questlon Mark (‘7) in the following number serles‘?
17, 19, 23, 29, 37,? '

(A) 48; - B) 47 ©) 49 (D) 46

What should come in place 6f the Question Mark in the following number series
655, 637, 622, 610, 601, ? .
(A) 593 B) 598 (C) 595 ’ D) 597

Raghuvir bought 10 calculafors and 16 watches for Rs.56,000/- and sold them at an overall
profit of 20%. At what price should he sell 15 calculators and 24 watches so that he receives
the same percentage of profit?

(A) 116176 (B) 100980 (C) 121176 - (D) 10080

25% of 960 + 55% of 740 = ?
(A) 650 (B) 647 (C) 689 (D) 699

A car runs at a speed of 50 kms/hour when not serviced and runs at 60 kms/hour when

~ serviced. After servicing, the car covers a certain distance in 6 hours. How much time will

the car takes to cover the same distance when not serviced?

" (A) 7.2 hours (B) 6.8 hours © 8hours (D) 6.5 hours

The amount of s1mple interest accrued on an amount of Rs 28, 500 in seven years is 23940.

"~ What is the rate of interest percentage per annum?

A) 105 _ B) 12 © 11 - D) 125

Savita sold an item for Rs.6,500 and incurred a loss of 20%. At what price should she have
sold the item to have gained a profit of 20%? ;

(A) 8125 B) 10375 ©) 9750 (D) None of the above
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1.5% of 4600 + 2.8% of 2000 — 109 = ?
(A) 32 B) 28 ©) 12 | (D) . 16

o fifesd e s # GIBECHa%974356%mﬁ%@w%1wwﬁFHclADas%qaﬁg
i e . | :

(A) 794125 (B) 572803 (C) 965726 (D) 865732
T fwed I S @ i qU Ham|

7.5,4.7,1.9,-0.9, ...

A) -19 | B) -1.5

C) 3.7 : - ») -2.5

o Rrred @1 @ S AR 0E & et @ S qE 78 ved ue ¥ Hed Bl
841:29:484: 7
(A). 28 B) 24 (C) 32 D) 22

ACCIDENT %1 §5g TNEDICCA ¥ 2, 3 a® 3% PASSENGER 1 #atl 3

(A) REGNESSAP . ' (B) REGNSESAP
(C) REGMESSAP (D) RGENESSAP
frffe s § frad e €7

i

A 19 B 21 ©) 23 ») 20
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1.5% of 4600 + 2.8% of 2000 — 109 = ? '
A 32 (B) 28 - (©) 12 D) 16

In a certain code language GIBECH is written as 974356. What will be the code for |
FHCIAD in that code language? \

(A) 794125 (B) 572803 (C) 965726 (D) 865732

Select the correct option that will complete the series
7.5,4.7,1.9,-0.9, .
A -1.9 , B) -1.5

© -3.7 D) -25

~ Select the option that is related to the third term in the same way as the second term is

related to the first term.
841:29::484: 7?7

A) 28 B) 24 ©) 32 (D) 22

ACCIDENT is related to TNEDICCA in the same way as PASSENGER is related to
(A) REGNESSAP ’ (B) REGNSESAP
(C) REGMESSAP (D) RGENESSAP

How many triangles are there in the following figure?

AN

@) 19 ®) 21 © 23 D 20

5 ' JSA-I
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SWA, OAW, KES, ?, CMK
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(3) I I Seured
(@) 7 e

(5) &
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(A) 2; 57 37 4; 1, 6 - (B) 4, 5, 2, 6, 1, 3
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39 forere 1 oo i Sl iR Ug @ deite ¥ 9 R gE g we 1g & weif R
3:30::4:7 e :
(A) 66 (B) 64 | (C) 170 (D) 68

frfefaa sverd & weafers (7) % T W HN A RN BT SR ?

D,J,72, 8,V
@ P | ® M © Q @) ©O

Pt s 12 2 6 T i 0% § T 99 8 oft T srem 31 frew e site e @l |
A 3:27 B) 4:65 ©) 2:9 D) 1:2
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A) 599 (B) 8= (C) 1598 (D) 109
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Three of the following four words are alike in a certain way and one is different. Pick the
odd word out. "

(A) Frustration (B) Anaemia- (C) Diabetes (D) Hypertension

Which letter cluster will replace the Question Mark (?) in the following series:
SWA, OAW, KES, ?, CMK
(A) GHO (B) FIP (C) GIO V (D) FIO

Arrange the following words in a logical and meaningful order:
(1) Ploughing the field

(2) Bread making

(8) Production of wheat

(4) = Wheat grinding

(5) Sowing the seeds

(6) Dough making

A 2,53,4,1,6 B) 4,5,2,6,1,3

(©C) 1,5,3,6,4,2 (D) 1,5,8,4,6,2

Select the option that is related to the third member in the same way as the second number
is related to the first number

3:30::4:7 .
(A) 66 : B) 64 : ~(C) 170 (D) 68

Which letter will replace the Question Mark (?) in the following series
D, J, 2, SV '
@A P ®B M © Q ®) O

Three of the following four number pairs are alike in certain way and one is different. Pick
the number pair that is different from the rest.

A 3:27 B) 4:65 (C) 2:9 ‘ M) 1:2

The sum of current ages of Vinayak and his father is 50 years. 5 years from now, Vinayak’s
age will be one fifith of his father’s age. What is Vinayak’s current age?

(A} byears (B) 8years "(C) 15 years (D) 10 years

7 : JSA-I
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" Select the word pair in which the two words are related in the same way as the two words

in the following pair:

Accident : Injury
(A) Farmer: Hardwork ' (B) Infection: Disease
(C) Income : Corruption - (D) Police : Fine

Which two signs need to be interchanged to make the given equation correct?
16 +27 +3-9x12=285

UMy B): =

© -, + : D) x, =

Five girls took part in a race. Rajni finished before Mahika but behind Garima. Ashmlta
finished before Sanchali but behmd Mahika. Who came second in the race?

(A) - Rajni (B) Mabhika
(C) * Sanchali : ; (D) Garima

. Four words have been given out of which three are alike in some manner while one is dif-

ferent. Choose the odd one. :
(A) Festoon v (B) Garnish
©) Adorn (D) Demolish

Find the unlike pair of words:

(A) Tomcat e Queen cat -
(B) Chick L Fion

©).. . Ant - = Queen ant
(D) Stag 5 Doe

A, B,C,D, E, F, G, and H are sitting in a circle in the same order for lunch at equal dis-

tances. Their posmons are clockw1se If C is sitting in the east, then what is the position
of G?

(A) South-east (B) West
(C) North-east - (D) East
Find the odd letter : e :
4 B B) D © F ® O

9 ‘ JSA-I
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28. vmﬁwaﬂw'ﬁsﬁfﬁaiqa@ﬁm%ﬁﬁﬁﬁ&gﬂ%qﬁﬁ%ﬁﬁaﬁéu‘
EK:MS:AG:?
@A—--10 @3 1IJ . (C) IM (D) dJP

29. Hﬁﬁmgﬁsﬁﬁ?ﬁwﬁaﬁmaﬁwj@w@wml
43, 48, 58, 73, ... g
A) 83 B) 78 ©) 88 (D) 93

30. a—@ﬁwgﬁsﬁmwaﬁmaﬂxm%@ml
GJM, KLN, ONO,....

(&) SRS 5ia  (® SOP
(C) SPP ' D) SQQ

31. aﬁﬁmaﬁsﬁﬁ?ﬁwﬁmaﬁtmﬁwml
BT
@ 0 ® -2 © 1 ™ 2

32. mmmﬁ@m%mﬁqaﬁ:ﬁﬁmﬁmaﬂm
18 -2x7+6+ 10=167
(A) -3+ . B) xR+ (C) +3Mx (D) +IM—

83 aﬁﬁmgﬁsﬁﬁ?ﬁmﬁmaﬂwj@waﬁ‘mml
7CC, XEE, VGG, ....., RKK N
) TII @y CREE e (0 S | (D) SGG

34. ww@wiﬁqﬁ@?ﬁqﬁwﬁmﬁwéﬁﬁ%@m%lmﬁaaﬁrwﬁl
(A) @HT : . (B) wifem
€ R (D) wifwR
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Select the option that is related to the third term in the same as the second term is related

to the first term.
EK:MS: AG: ‘?

@) 10 @F I S G T o

Select the correct option that will fill in the blank and corﬁplete the series.
43, 48, 58, 73, ...
(A) 83 B) 178 (C) 88 i @) g8

~ Select the correct option that will fill i in the blank and complete the ser1es

GJM, KLN, ONO,.. S
(A) SRS : . (B) SOP
(C) SPP , D) SQQ

Select the correct option that will fill in the blank and complete the series

Ligelsio

4.0 (B) == =2 © 1 D) 2

Find out the two signs to be 1nterchanged for making followmg equatlon correct.
18—2x7+6+10=67 ‘
(A) —and + (B) x and + ~ (C) +andx - (D) +and-

Select the option that will fill in the blank and complete the given series.
ZCC, XEE, VGG, ..... s RISIKC - v
(A) TII B) RGG ' (C) SII (D) SGG

Four words have been given out of which three are ahke in some manner Wh1le one is
different. Find the odd one.

(A) Gold (B) Platinum

(C) Silver ‘ _ (D) Ruby

i s S , JSA-I
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36. Hﬁﬁwzﬁsﬁﬁ?ﬁwﬁﬁmaﬁt%{@waﬁwml
6, 11, 20, 45, 134, ....
(A) 497 IO ) A9 D) 794

37 faww deEn S w1 = B

(A) ~32:;19 " (B) 43:95 ' (C) . 21:51 (D) 58:26
5. wd Reew 93 S foe T T R S EE B g R
4, 5, 14, 39, 88, 169, ..... :

A) 209 (B) 200 © ~(C)- 290 D) 299

39, from g A F T B

A) _2564:21'. (B) 3797:42- | (C) 1479:83 (D) 4632:23

40.. wwﬁﬁm%,ﬁﬂﬁ%?ﬁ?ﬁﬁmwﬁmﬁaﬁﬁﬁ@m%lmﬁawaﬁﬁl'
@) - ® feE
() HrHTE S @ T

1w Fren < S e T ) SR S A g R
16, 2,15, 4, 13, 7, 10, _11, 6, ...

A 17 B) 14 ©) 15 (D) 16

49, fywm dem NS w1 TH R

(A) 123:49 B) 912:144 (C) 324:100 (D) 813:169
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Four words have been given out of which three are alike in some manner while one is
different. Find the odd one.

(A) Temple (B) Park ‘(vC) House (D) School

Select the correct option to complete the series.
6, 11, 20, 45, 134, ....
(A) 497 (B) 749 (C) 479 D) 794

Choose the odd number pair.

(A) 32:19 " (B) 43:95 (C) 21:51 (D) 58:26

Select the correct option to complete the series.
4, 5, 14, 39, 88, 169, ..... _
A 209 L (B 200 (C) 290 D) 299

Choose odd number pair

(A) 2564:21 - .(B) 38797:42 (C) 1479:83 (D) 4632:23

Four words have been given out of which three are alike in some manner while one is
different. Find the odd one.

(A) Scurvy ~ TP (B) Rickets

(C) Phosphours © (D) Coitre

Select the correct number to complete the series.
16, 2,15, 4, 13, 7, 10, 11, 6, ....
1T B 14 ()15 D) 16

Choose odd number pair.
A 123:49 B) 912:144 (C) 324:100 . (D) 813:169 -

13 , JSA-I
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41,43, 47, 53, 61, 71, 73, 81 ‘

Nk e L 0 - (D) Bl
fag g STISRA | TTETd TEAT FTd B

6, 13, 18, 25,.30, 37, 40"

T Yo St B T Rt @ v 36 e @ et ¥ 39 fr Frefaiaa oid # @ g
SOLDIERS : ARMY:: MUSICIANS: ?
(A) FLOCK (B)' GANG (C) COLONY (D) BAND
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Tt 37q FRme? : R |
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A does a work in 10 days and B does the same work in 15 days. In how many days they
together will complete the same work? ‘

(A) 6 days (B) 8days () 10 days (D) 5 days

Excluding stoppages the’ speed of a bus is 54 kmph and including stoppages it is 45 kmph.
For how many minutes does the bus stop per hour? »

A 9 ' B) 10 ~ ©) 12 (D) 20

In what ratio must tea at Rs. 62 per kg be mixed with tea at Rs. 72 per kg so that the
mixture must be worth Rs. 64.50 per kg? o

.(A) 3:1 - B) 3:2 . (C) 43 D) 5:3

Find the odd man out

| 41, 43, 47, 53, 61, 71,.73, 81

(A) -61 (B "7l () N D) 81

Find out the wrong number in given sequence

6, 13, 18, 25, 30, 37, 40

@) 25 @y Bh e d ey D) 40

Choose the pair which is related in the same way as the words in the first pair from the

given choices.
SOLDIERS : ARMY:: MUSICIANS: ?
(A) FLOCK B) GANG (C). COLONY (D) BAND

If three numbers are in the ratio 2 3 : 5 and twice their sum is 100, find the square of the

largest of the three numbers.

(A) 295 ' (B) 625 © 25 D) 100

15 . ‘ JSA-1
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a3 v 2 R g R S el G o T g 1 e e T R A 37

(A) g =TEh B) e =T
© = (D) ==
ST Y I R

CX, WP, UJ, SF, ... _

@) OoP By Qe (C) YT

Teh ST 20%%wmw.éwmwm%l%mwﬁmﬁnm%sﬁzo%w%ls

T ATy giaed 1 87
(A)  40% < B 0% (© 20%

ﬂﬁPALEEfﬁZlMQSKqﬁEﬁ%H%mW% @ EARTH = 41590 & ®9 # shifsd foman S

PEARL ! 8 hifeq fomam Siar 272
(A) 25430 (B) 29530 (C) 24153
o . fomreeit 7 2 fom ) 7 ARG o
(A) Us : ITEl (B) R : S (0) éaa:am
o o et @ Frew ) 1 B
(A) 80 : B A0 ©) 179
s WA
. 7, 35, 33, 63, 60, 92 :
&) 69 B) 74 (C) 88
fau Tu et # & fywm 3@ AR
(A)  1975:1579 (B) 7319:1793 (C) 3152:5321
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Ram said “Sita is my paternal. great grand father’s only son’s only daughter-in-law. How is

Sita related to Ram?

(A) Maternal aunt (B) Paternal aunt
(C) Mother (D) Sister

Complete the series
CX, WP, UJ, SF, . =T :
A OP B) QD (© YT (D) RE

If north-east becomes west and south-east becomes south and so on what will be the west?

(A) North- east (B) North-west (C) South-west D) South-east

A trader makes a prof1t by selling goods at a profit of 20%. He also uses welghts that are

20% less. What is his actual gain percent?

A 40% B) 60% ©) 20% ' D) 50%

If PALE is coded as 2134, EARTH is coded as 41590, how is PEARL coded?
(A) 25430 B B) 29530 (C) 24153 D) 25413.

Find the odd one from the given options.

(A) Tree:Branch (B) Car: Engine (C) Table: Chair (D) House: Room

Find the odd one out from the given options:

(A) 80 (B) 40 ©- 79 | -(D)' 20

- Complete the series

7,35, 33, 63, 60, 92 . ,
A) 69 B) 74 (@) 88 ne D) 81

Find the odd one out from the given options.

(A)  1975:1579 (B) 7319:1793 (C) 3152:5321 (D) 4283: 8432

17 JSA-I
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(A) 50 B) 150 (C) 100 (D) 200

i  70% T Te §1 80% Teu Il 20% wwen el wfSew dafafy w1 ket 3
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(A)  70% B 2% (C) 30% D) 73%

gaﬁ%maﬁgﬁsﬁﬁqwqaﬁa%ﬁmﬁa(?)ﬁaﬁwmﬁwéﬂél

32 85 64
5-- 18 10
i e
6 40 24

@ ®) 6 GG O 4

ol T 1.5 3 o 10% S 9 1 28 2 1,000 w9 8 fey e 7

A) 160.55 (B) 167.36 - (©) 150.25 (D) 157.63
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In a bag there are coins of 25 paise, 10 paise and 5 paise in the ratio of 1: 2: 3. If there are

Rs. 30 in all, how many 5 paise coins are there?

(A) 50 (B) . 150 (C) 100 (D) 200

70% of the employees in a firm are men. 80% of men and 20% of women employees opt for

voluntary retirement. What is the % of the total number of employees continue in service?

@) 70% ®B) 27% ©) 30% D) 73%

Choose the alternative that best replaces the Question Mark (?) in the givén figure.

32 85 64
5 13 10
1 2 8500
6 40 24
Ay (B) 6 , © 2 | (D)‘ 4.

Find the compound interest on a sum of Rs. 1,000 at the rate of 10% per annum for
1.5 years when interest in compouhded half-yearly.

(A) 160.55 (B) 167.36 (C) - 150.25 (D) 167.63

Rahul starts Walking towards west. After a while he turns left and then turns to his right.v
Again he turns left and then right. How many times did he turn towards South?

(A) Four turns (B) . Three turns (C) Two turns (D) One turn

Which number will best complete the relationship given below:
Basketball : 5 :: Football : ? |
@ 7 B) 11 (©) 13 D) 15
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Q ¢ el # fora Py &7
A 6 B) 8 (C)y 10 D) 5

'mﬁswqﬁ%ﬂﬁwﬁeﬂlmwwsmﬁaéﬂﬂa@@ 5/6 zﬁlwaﬁagqsqsﬁw%m

10 @1 6t off| o8 o forerft ot &7
(A) 40 B) 20 (C) 30 D) 38

@RWﬁQaﬁm?ﬁﬂﬁm%@rﬁa/w%lwmaﬁvﬁmmnﬁa/w%lﬁmmﬁm

68 Terciiier ST < M e@hft? v
A T7H ; ' (B) 8w

C) 4w : (D) 7w 33 fime

@wg‘a@5aﬁMﬁm@aﬁ%éﬁxmiéaﬁﬁ@@aﬁ%lwaﬁtaﬁwsaﬁﬁ@‘
I B @ A 3 o1 AT Ygerelt 21 3 Al o o ot firefh 7

(A) 11.30 AM (B) 1.30PM (©) 9.30 AM (D) 10AM

A, B, C3RD # @ Tk faehcd o1 =8 &L ST oehl & 37T 2

A) I o (B) e
(C) qm%ax ' (D) Ufdm wesih
T forhed o1 =1 L S TRl | ST &/l

NI FUEED , (B) SR
(C) SR D) Tha

frfafed w1 d & 7% g@en § mewaﬁ
3,7, 16,35,? |
A) 65 B 72 - (0 14 D) 76
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How many triangles are there in the given figure?

A 6 - B .8 ' (@ 10 D) 5

Rajan got married 8 years back. His age then was 5/6 of his present age. His sister was
10 years younger at the time of his marriage. How old is she now?

A) 40 B) 20 (C) 30 (D) 38

Speed of a boat in still water is 13 km/hr. Speed of water current is 4 km/hr. In what time
the boat cover 68 km upstream? ' '

(A) S hours (B) 8 hours (C) 4 hours (D) 7 hrs 33 minutes

A bus leaves Agra at 5 AM and reaches Delhi at 12 Noon. Another bus leaves Delhi at
8 AM and reaches Agra at 3 PM. At what time do they meet? : '

(A) 11.30 AM (B) 1.30PM (C) 9.30 AM (D) 10AM

Select the one alternative out of A,B,C,D which is different from the rest.
(A) Dog Show _ (B) Fashion Show
(C) Funfair (D) Painting Exhibition

Select the one alternative which is different from the rest.

(A) Administrator (B) Doctor . (C)  Engineer (D) Lawyer

In the following question select the missing number in the given sei‘ies
3,17, 16, 35, ?
@) 65 . B 72 - © T4 D) 76
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FH, LN, RT, ? A
(A) XY . - (B) XZ (C) ZX D) WY

: m%wﬁmﬁaﬁ@imﬁmwzﬁwﬁ@ﬁi’ﬂ?

(A) Twinkle (B) Twister ' (C) Trump (D) Trigger

T % Efe B W A a1 veg siftm fwrs 3me

(A) Boring ' (B) Busted
(C) Burped SR , (D) None of these

e o 3 o Ty feredt 1 3 e e g w1 A

A) DG By Ps ©)- VY ' (D) NR

forfrfaa wea R e forehedt & & fowm wrsg w1 o
A) Ia B) G (C) = ' (D) 3TmEa
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In the following question, select the missing number.
11, 8,4, -1, 7
A) -5 ®) 5 =% @), =1

A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series. ‘

FH, LN, RT, ? 7 .
A XY .B) XZ © ZX (D) - WY

Which word will ap.peaf third when arranged in the order of dictionary?

(A) Twinkle (B) Twister ~ (C) Trump (D) Trigger

Which word will appear last when arranged in the order.of dictionary?
(A) Boring i (B) Busted
(C) Burped : ) (D) None of these

In the following question select the odd number pair from the given alternatives.
@A) 11-121 _ (B) 13-199 |
(C) 14-196 . : (D_) 15-225

Select the odd letters from the giveri alternatives

A) . DG B) PS _ © VY (D) NR

In the following question select the odd word from the given alternatives.

(A) Circle ~ (B) Triangle (C) Cube (D) Rectangle

In the following question select the odd word from the given alternatives.

(A) ‘Water B) Milk (C)  Juice o (D) Potato
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Select the odd word from the given alternatives.

(A) Spanish (B) Italian (C) Chemistry (D) German

In the following question select the related number from the given alternatives.

102 : 10404 :: 107 : ?
(A) 11449 (B) 11649 (C) 11049 ((D) 12449

Select the related number from the given alternative.
780z 117
A) 120 B) 121 ©) 122 D) 132

In the following question select the related word from the given alternatives.
Doctor : Stethescope :: Author : ?

(A) Pen T g (B) Hospital

(C) College A ' (D) - University

Select the related word from the given alternative
Cow : milk :: Bees: ?

(A) Silk (B) Honey (C) Flower (D) Water

Select the odd word from the given alternatives

(A) Stream (B) Rivulet (C) River (D) Valley

Advik’s birthday is on Monday 19th June. On what day of the week will be Nishanth’s
birthday of the same year if Nishanth was born on 17t November. '

(A) Saturday (B) Wednesday ©) Friday (D) Sunday

From the given words select the word which cannot be formed using the rletters of the given
word JAUNTILY - : ' ‘

(A) NEATLY (B) AUNTY (C) JAUNT (D) UNITY
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afe 3% = 2 = 50, 2% F14 =607, A 4 F 5% 1 Tea1 7T 27

@ 16 B 9° © 90 D) 20
_(?)f%lf%a_r mmmwﬁ
' 23?7 12
6 13 ' 7
138 117 84 | |
@ 9 ®) 13 © 17 O 15
2468 1 37 & fawior Y T TR T 37

A) 726 B) 36 (C) 18 D) 14

1 12.08.1989
2. 13.09.1991
3. 19.06.1991
4 20.02.1989
5

. 22.03.1991 ,
@A 2 ' B 4 ©r-1.0- " D) 5

A 2,341,65 B 2,4,1,3,6,5
©) 2,4,31,5,6 ' D) 2,4,31,6,5
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If 3% of 2 = 50, 2% of 4 = 60, then what is the value of 5% of 4 = ? .
(A 16 B 9 © 90 . ' D) 20

Select the missing number marked (?)

23?2 12
6 13 7
138 117 84
A 9 .~ (B) 13 ©) 17 D) 15

What is the remainder when 2468 is divided by 37 :
A 26 B) 36 . ) 18 D) 14

The simple and compound interest that can be earned in two years at the same rate is
~ Rs. 1,000 and Rs. 1,040 respectively. What is the rate of interest?

A 9 ®B) 10 . (© 8 : D) 11

The date of birth of some persons are given below. Find out the date of birth of the oldest .

person.
1.  12.08.1989

2. 13.09.1991

3. 19.06.1991

4.  20.02.1989

5. 22.03.1991

A 2 B 4 G 1 D 5

Select the correct alternative to indicate the arrangement of the following words in a logical
and meaningful order.

1.  Paragraphs

2.  Letters

3.  Sentences

4.  Words

5. Book

6. Pége‘s

(A 2,3,41,65 B) 2,4,1,3,65

©C) 2,43,1,5,6 ' D) 2,431,6,5
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Arrange following words in a logical and meaningful manner.
State

Individual

Family

Community

U D

Country

A 2,341,5 B) 5,2 4,3,1
(©)--2-84,51 D) 2,54 3,1

Three of the following words are alike in a certain way and one is different. Find the odd
one out. ' '

(A) Division (B) Addition (C) Subtraction (D) Mathematics

A 270 metres long train running at the speed of 120 km/hr crosses another train running in
opposite direction at the speed of 80 km/hour in 9 seconds. What is the length of the other
train? ,

(A) 240 metres (B) 320 metres (C) 260 metres (D) 230 metres.

Raviraj invested an amount of Rs.10,000 at compound interest rate of 10% per annum for a
period of 3 years. How much amount will Raviraj get after 3 years? '

- (A) Rs. 13,210  (B) Rs. 13,310 (C) Rs. 12,100 (D) Rs. 11,000

Twice the square of a number is the cube of 18. Thé number is
(A) 54 (B) 108 (C) 162 (D) 324

The average salary of a group of 27 is 3,700. If the salary of one more person is added the
average is increased to 3,750. What is the salary of the new person?

A) 5,010 B) -5,200 (C) 5,100 (D)- 5,000

The sum of 2 numbers is 22 and their difference is 14. Find the product of numbers.
A 72 (B) 82 ) 62 D) 27
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